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CERTIFICATE IN SHOE UPPER CUTTING 
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OET-012 : MATERIAL COSTING AND CUTTING 

Time : 2 hours 	 Maximum Marks : 100 

Note : Attempt any five questions. 

	

1. 	A cutter has been given 50 sq.ft of leather for the 20 
norm of 2.4 sq.ft to cut 20 pairs the rate of leather 
is Rs 50. He has returned 01 sq ft. of the leather. 
What is profit/ loss incurred by the clicker ? 

	

2. 	Briefly Explain the following : 	 10x2=20 
(a) Leather Structure 
(b) Hide and Side 

	

3. 	Show different quality regions of hide and side 20 
by diagramatic representation. 

	

4. 	Write the approximately size (sq.ft), thickness 20 
(mm), grain structure & utilization for the 
following leather : 
(a) Cattle hide (cow & buff) 
(b) Calf 1 year old 
(c) Wool sheep 
(d) Goat 
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5. 	What is the difference between the cutting of full 20 

grain leather and the corrected grain cutting ? 

6. Draw the diagram of goat skin & show/mark the 20 

following : 

(a) Line of tightness and stretchness 

(b) Quality regions. 

	

7. 	Differentiate between the following : 	 20 

(a) Synthetic cutting process and leather 

cutting process. 

(b) Split leather and suede leather 
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